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LOOKUP wt

Ll K 3L ek aside a=b 3 b s esls Jad o C%U Jsko K31 (gl LOOKUP @U

Select Arguments 27| X I

LOOKUP
This Function has multiple argument lists. Please select one of them,
Arguments:
vector, result vector
lookup_value,array
Help on this Function 0K I Cancel

3405 35y Je 31 e SO 0Ll S50 (6l b 55 O LOOKUP &b e
sl el el gominr b el Olen s Jshe O3l Slaie G 0L S50 5 s esls aU (g i
sl 4l Gl s a3l lide S owils S

s e
E D C B A

Color Frequency 1

red 414 | 2

arange 419 3

yellow 517 | 4

green 577 5

blue 6.39 B

Result Formula 7

orange =LOOKUP{(4.19.A2:A6;B2:B6) | 8

Looks up 4.19 in column A, and returns the value from column B that is in the same row. 9

orange =LOOKUP(5;A2:A6;B2:B6) 10
Looks up 5.00 in column A, matches the next smallest value (4.19), and returns the value from column B that is in the

same row. 1

blue =LOOKUP(7.66;A2:A6;B2:B6) | 12
Looks up 7.66 in column A, matches the next smallest value (6.39), and returns the value from column B that is in the

same row. 13

#N/A =LOOKUP(0;A2:A6;,B2:B6) 14

Looks up 0 in column A, and returns an error because 0 is less than the smallest value in the lookup_vector AZ:A7.
15

LOOKUP & ol i35
OT L bz 5355 o sk oasime 55 AYIAT s0ss 53 ST G5 cllie 5be LOOKUP =t s
o oo aS STAYIA s s STl ol il & el Sl st o5 5 S s S e 1, BYIBR I
Slols Jhie dlte ol 53 dls S o 2 15 OF 51 2eS L ply Sltie mb (35m0 55 ¢ AL cp 2l

S dalgt Ol
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E | D | c B A
Color Frequency 1
blue 6.39 2
| | green 577 E
yellow 517 4
orange 419 5
red 414 6
Result Formula 7
#MN/A =LOOKUP(4.19;A2:AB;B2:B6) | 8
Looks up 419 in column A, and returns the value from column B that is in the same row. 9
#MN/A =LOOKUP(5;A2:A6;B2:B6) 10
Looks up 5.00 in column A, matches the next smallest value (4.19), and returns the value from column B that is in the
same row. 11
red =LOOKUP(7.66;A2:AB;B2:B6) | 12
Looks up 7.66 in column A, matches the next smallest value (6.39), and returns the value from column B that is in the
same row. 13
#MN/A =LOOKUP(0;A2:AB6;B2:B6) 14

Looks up 0 in column A, and returns an error because 0 is less than the smallest value in the lockup_vector AZ:AT.
15

LOOKUP s e
35051 olde L ol | J e G« (Lookup_value) st aks s sl —xze o LOOKUP oo

o= 4L (LOOKUP_VECION 55 aze dld 55 dil o st (sl 5 3,50 5lie (5l oS (e
U b clize &S ol gl 4> (Result_vector)rjw e 5 (AYIAN G see 4l KO) gt 3,50 b

H\.}\;qu,aﬁb%ﬁ(BY:B'\ (S3 508 4-;9-‘5)@']‘

F - X « f- =LOOKUP(4.19;A2:A6;B2:B6) v
F E D C B | A \
Function Arguments ‘QI ihr e 214 ;
LOCKUP 419 | 3
Lookup_value 517 4
Lookup_vector | A2:AG 577 | 5
Result_vector | B2:B& = {red";"orange”; "yellow™; "green”; ... 6.20 6
Result = “orange” mula 7
orange Looks up a value either from a one—row or one-column range or from an array. Provided for backward compatibility. DOKUP(4.19:A2:A6;82:B6) ‘ 3
Lookup_value isavalue 1_113!: LOOKUP searches for in Lookup_vector and can be a number, 9
text, a logical value, or a name or reference to a value.
orange DOKUP(5;A2:A6;B2:B6) 10
P R m column B that is in the
11
blue || Hepenthsfndion DOKUP(7.66:AZA6,B2:B6) 12
S TEEETE T B6 T CIUT A, THAteREs the Hext sallest VAl 15 307, ana Tetime tREValie Trom column B that is in the
same row. 13
#N/A =LOOKUP(0;A2:A6;B2:B6) 14

Looks up 0 in column A, and returns an error because 0 is less than the smallest value in the lookup_vector A2:A7.

VLOOKUP .t
=L LS e Ls esls dsdr lggia 1 S 5s b S s < VLOOKUP =U
Vertical s ciises o glid 53V 6> ast o LOOKUP s wisly «av sVLOOKUP

Mehran.nemati? * @yahoo.com ¢ Ol 0 U=y ya &:,aaj_é S8 — e ui;)'j.af S



L;:A.*-.’O‘J.G_A

ao p S 0 e s S el Olea b blae Wl s S yasiie i &S St |y i

V_Ubb@lj):u&:;A.W.ll.inﬁ)'dlia):.>)|xg|ﬁ)>6|¢?§,ﬁw&oﬂlij@%

DS o e 5l 050 S e Do
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._"J,ils' rl.?_, rl.i 1

Viookup Lookup S 2
Jot Flaa, S Il (S Age]0AVY 3
-VLOOKUP Br;$BSvSCSrv;r.» -LOOKUPBr:$B%v-$B5v:5CSvSCSv]| 2
5

5

Aol bl e g 5 7

Jsl Hea; e oavy B

oA Lo 0avy 9

& o dasee DAV 10

w2, LU0 1

Sissy A0 12

R W (1) 13

e Flas e 08 14

A J g 0N 15

S5 ol 047 16

o badl Ji0404 17

e 0401 18

ol dusl 090 19

B e 20

D Ao pasy 21

Clbandd s dases 0487 22

sx Al Lls 04£0 23

Lol 3. 04EY 24

T L 25

o3> Lo hasee 04K 26

Ol (50 0T 27
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5
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Il (5 age 00T 8

Goa L s 04k 9

Ghasan b 04LY 10

Olblonnel 3900 0AEY 1

sp OLale .le0d£0 12
Oldand - dases 0487 13

g duses|04EY 14
o3 Ol ses DAEA 15
o dul 080E 16
e e 0407 17
o il 008 18
S Al 0t 19
A g {00 20
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F o asee 0OV 25
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: VLookup «b (sls xze

e e sl

S oo g Ol olul o5 - LOOKUP_value -

ol g 3540 sl a-U - Table_array -y

5 el g i 3550 46 O g o L : Col_index_num -v

L e—nlae 035 False o, 55 a5 sl - False L True .. « : Range_Lookup -¢

True S\ Js 55 aal= #N/A Ol clis S1 5 a8 e edlel | e LOOkup_value

&S o oDl |, Lookup_value « 1) e o S0s 5w,

=VLOOKUP(B3;$B$7:$C527;2;0)

M L LS J

VLOOKUP
Lookup_value |§

Col_index_num | 2
Range_lookup |0

Help on this function

Table_array |B57:5C527

Looks for a value in the leftmost column of a table, and then returns a value in the same row from a column you
specify. By default, the table must be sorted in an ascending order.

Lookup_value is the value to be found in the first column of the table, and can be a

Formula result = Jsl _silgs) slgsr

H G F £ | D [ = B A

Sl gl gl

Lookup
il | VY

-LOOKUP (Br:$BSv 8BS +v:8CSvSCEw)

(2 fimm|

Viookup

;
LVLOOKUP Br:$BSvSCSrmr )

sl il iz Mo | DANT

= 5972 i Dy an
= {709 sSalgils alig AL, pliuy 1S PR P
=12 ETITE
= FALSE : iy el 084 12

it e 0370 13
= sl _silgy sla="

B
&
Nl
%
4

walue, a reference, or a text string.

P
u

ot Ol | 0324 2]

Dl dme| 0AEV 7

“HLookup ¢

S H G > 03 e b esls s slewss 5l S s dsbe G 51 L luis & HLOOKUP =t
S Jdr sy sl oLl HLOOKUP = sk e (s Horizontal auls cisss ol laz

wajbl.«.:ﬂv\i‘ OJ;WMG\S%.})JJ ‘)J"&‘&JWWJ}J} 6[.@.5.:.)))3 ‘)J‘J.;.A

Ll > gl At 1S b cp e S 503 e 5 A S e e

[F E D C B A
Bolts Bearings Axles 1
9 4 4 2
10 7 5 3
11 8 6 4
5
Formula Result 6
=HLOOKUP("Axles™, A1:C3; 2; TRUE} 4 Axles | T
=HLOOKUP({"Bearings", A1:C4, 3, FALSE) 7 Bearings &
=HLOOKUP({"B"; A1:C4; 3; TRUE) 5 B 9
=HLOOKUP("Bolts"; A1:C4; 4) 11 Bolts | 10
11
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: HLookup b (sl iz

e sl s
Jsder cpsle Yyame S Jsdr s, ol JoS sn gt O ol &5 Lookup_value -\
(1iloe

ol g 3540 sl oL Table_array -y

domt odlel g gt 3550 4l iy osled Row_index_num -r

L e—nlae 035 False o, 55 a5 sl - False L True .. « : Range_Lookup -¢
True S\ Js 55 aal #N/A Ol calis S1 5 a8 e edlel | e LOOkup_value
&S o oDl |, Lookup_value « 1) e o Sos 5w,

H G F E D C B A

Bolts Bearings Axles 1
9 4 4 2
10 7 5 3
1 g 5] 4
[ Function Arguments @I&Jw L
Result 5]
HLOOKUP ..I TRUEi | Axl €s I
Lookup_value [ “Axles” 7 Bearings| 8
. 5 B 9
Table_array | $as1:6C%3 {"Axles”, "Bearings”, Bolts";4,4,9;5...
11 Bolts | 10
Row_index_num | 2 2 1
Range_lookup | TRUE TRUE 12
-4 13
Looks for a value in the top row of a table or array of values and returns the value in the same column from a row you 14
spedify, 15
Lookup_value is the value to be found in the first row of the table and can be a value, a 16
reference, or a text string. 17
18
Formula result = 4 19
20
Help on this function [ oK ] [ Cancel l 21
e ————————————— 22
23
24
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Goal seek -

C.M\ C)LGML‘)‘ fy‘v»l.:J)?f))kbbﬁb‘jbb)‘)&.l’ﬁjgﬂ L}...S\QSLA LS'.L")S)‘L;’L
Sl el bl e e sl s onls ol 5 a5 3 oS el sl o e 51 G Goal seek s

S S bl cow ks wuujwué\ﬁ‘«sb @ldel Ol e
GJL«JJLAM;JL‘)J?MJ‘JJ‘ U'i‘ .)J.a)ls
NER .ul{ﬂ‘jd).)\_?-cj_i@wbjjaﬁ a3 S e er 0Ll ol Dbl 5o ST (5 50 ) Jle

F | E | D & = ’ ‘
1
S e T i et R o3 pb -
1\ A Y N e 3
2% q v Sl 4
YA \§ Y SrameS B s St 5
v lhes 6
YA V¢ Y s 3 O ™% 7
YA \§ Y S wle e Sl 8
ViV )t 3 N g 9

R JAze 10

SR 5 d oes ptd bg e o 5 ) 55 L5 Bl VYl Jiee oSST (sl 48 el ) gt JU

S W P VEI VY VI W O
What‘lfA_«.iJ;Data g}"j—“")‘ )Hé}‘}@\b& MMJMJJP)JJJ—LAUJLS‘}J
U oy oS o SIS Goal seek gy, » ot alb o g 5l aiS e Clisl LAnalysis
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H G F E D C B A
1
Q'l.o.:n:- & pos Aol sl o oL 2
A A Y JJ" e F 3
4 Y
Goal Seek L2 [ Yy q v LU ;
Set cell: £ YA Ve Y Sl a5 2y clean z
To value:
v = L.
By changing cell: B3 A 6
YA ]2 Y dre sl 5 (S 4l
I il 7
D e e TA 't Y S b e s 8
13% \H3 5 o 9
N
AR Jdre 10
1

Sl o g e 3l Jean Jo ol 3 355 4255 J g b 50 4 Lo il Set cell lie ojle S0
NGIVH PSS WP PO ES9 La»\j@e-ﬁrfﬂ

o 3L e b e Sl b Lo s 0%) e 55 o0 1 ol lie To value o jle Blis
(oS YO Al Spo cnl 53 g 1035 15 )A e O35 o Dlie @il VY e
bm_wﬁalj_sgbtjm@g?ﬂspmﬁlfystjgp 31 1L By changing cell © s Ll s
(Slhes Jrass s o Gl Jsbe sl dle pl ) oS I ol

| =E9/C9
[ H G F E D C B A
1
\;.1]}&: g o o Aol sloas oS sl 5
Lt A Y PENCNE |
P -

Goal Seek L2 o) v q ¥ Sl y
Set cell: E10 YA |} Y SFelS a2 sleazas £

To value: 12 ' A .
= Y b’d\-__u\».ﬁ v—:-AJJ’-_i E

By changing cell: | $Ds8|
YA ¢ Y 4.'..4:: 3 S ML; 7
W | | e e :
¢ <

AR | dze [
o 1

6)#(&[—}&.9&3‘}_3u~)3aﬁ) s J)L”OKLSJ)f&:lSLJhL;M‘FQLOw‘MJ‘W
oo (VY sl 53) ol 2> sde g Jdas a5 555 o ailme
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L;:A-’JO“).@A

1
Q',Q.E oo o o Aol olaas oo sl 2
[ A Y \ Y ; - -
Goal Seek Status m \ A o S S 3
Goal Seeking with Cell E10 v q Y 5Ll .
found a solution. : = :
YA \ Y s sk Alo-
Target value: 12 orx T (S 5
Current value: 12 Y\ v v —u :-U}
7 - ~ £ 6
[k ] [ cancel | . . .
YA A} Y frwss 3 S “"')‘! 7
——
YA A} Y &8 ab sl :
A\ A} <
v : S e -
\Y | dze
- 10

aa

b JU Ve Bl Slles s Slles gla ause elaly sl e s e a0 Y Jle
LS o ol i J> 51 Goal seek 1 5 Jle wile

L Shdes 35w aS BV o) il o Slles 3 5m Jshe sl (Set cell ) b Gaa J gk Jlie ol s
(Gl ol b5 Jgn b Do 4 5 das 0 DL

ORI TR 'CL,AToValue <ole Je

O P AR P N N PRI B PRCETR P o231 = BY J L. By changing cell L.
Ll dalp AalS (IVEN 0 00) s o Ls ay o élgBVJjbjgwﬂag\ﬁ%uﬁé)#w

B7 - £ | =sum(Be:88)
= J H G F E D C B A
AR JL.
I
[ Goal Seek ™) AAge e, 00 e ) delys 5 alls 2
= (BA0OC o v ) sl afl ookt 5 4ty g0 e VT s plad olas
Set cell: B10 53 )| S gAA G T B e e
TY,E04,000 sl 3 g
To value: 140000000 [ — S — =
= NAevad.ai0) sl B oela an
By changing cell: | B§7 :__‘_ :k_o_idid_l _dl_ifl_): gt gt B J_‘JJ' S A
AT itekas glaanoa pladal s Sla el
[ Ok J ’ Cancel ]
—_—m——m—m .
I VY4, e, e | ohkas ;)___[
L |
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| B10 - J | =suM(B6:B3) v
ElkK J H G F = D c B A
] 1
WAL Jl. 2
5 o 3
Goal Seck Status = AMA v 00 Sl 3 el 5l 25 0]y
= Goal Seeking with Cell B10 5 [CTY-NL-RPCEE) [ PR P E P PRE-T I BT L] plal gl 5
found a solution. YY,i0.,000 el s 6
Target value: 140000000 — . .
Current value: 140,000,000 OVENeev00) Aty sl F7 ghe s g
AR R U:LJ..._:. gl “s g Ladal s J_»_"n._- __,.a.i'\:'- 3
B 9
Vo wnn,nns ‘_f’-'l.;l.a.f-;)..-li
&
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